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/if(a>0)

b=1;
else
b=0;
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/if(a>1000)
b=1000;
else if(a>100)
b=100;
else if(a>10)
b=10;

else

K b=0;
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a>07?71;: 0;1

[(a>0)’)(b 1) : (b=0); }
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b = (a>1000) ? 1000
(a>100) ? 100:
(a>10) ? 10: O;
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m (age>=20) ? printf(“XA¥n") : printf(“+F{&

¥n’);
s #define MIN(a,b) (((a)<(b))?(a):(b))
Z = MIN(X,y);
m #define ABS(X) ((x>0)?(x):(-X))
z = ABS(X);
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m #define MAX(a,b) (((a)>(b))?(a):(b))Z L\
TEA[[DEZRDH> L ADERZIET S

#int find_max_value(const int af], int n)%
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n SIEMNTILIZFAVRTHY . KXFRLINFIZ, INF
HORXFIZEBL, PILT7RYITHRIINIEZDFEFFEIR
FRE#INt lu_exchange(int c)ZFEHEEFZFALNTEREE
& (string.h&ctype.h(EFI A E])
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= int islower(int ¢); XFch/INXF(a~2)ELEERY
m int isupper(int c); XFCMARXFA~2)LELEZRY
= int tolower(int ¢); 3XFCHA R FLEL/NIFIZEHL
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= int toupper(int ¢); 3XFCH/NIXFHE L KX FIZE
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a[0]
a[l]
a[2]
a[3]
a[4]
a[>]
a[6]
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A

lowest| O

lowkey| 20 ¢ /6
al0] | 207 d 20
a[l] 6 - 6
af2] | 55 55
a[3] | 87 87
af4] 3 3
a[5] | 45 45
a[6] 13 13

A

1 4 4
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20 20 20 20\, 3
6 6 6 6 6
55 55 55 55 55
87 [ | 87 87 87 87
3 3 (| 3 s 20
45 45 45 [+ | 45 45
13 13 13 13 13
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A

lowest| 1

lowkey <
a[0] 3 3
a[l] 6 6
a[2] | 55 55
a[3] | 87 87
a[4] | 20 20
a[5] | 45 45
a[6] 13 13
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6 “ 6 6

3 3 3 3

6 6 6 > 6
55 55 55 55
87 87 87 87
20 - 20 20 20
45 45 45 45
13 13 13 | 13
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lowest| 2 2 4 4 6
lowkey| 55 | 55 20 20 13
/
a[0] | 3 3 3 3 3
a[l] | 6 6 6 6 6
a[2] | 55 55 55 55 >< 13
a[3] | 87 || 87 87 87 87
aj4] | 20 20 [ | 20 20/ 20
a[5] | 45 45 45 || 43 45
a[6] | 13 13 13 13 K 55
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lowest| 3 4 4 4
lowkey| 87 ¢ 20 20 20
/
a[0] 3 , 3 3 3
a[l] 6 6 6 6
a[2] | 13 13 13 13
a[3] | 87 87 87 B 20
a[4] | 20 20 20 87
a[5] | 45 45 45 45
a[6] | 55 55 55 55
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lowest| 4 5 5

lowkey| 87 ¢ 45 | 45

al0] | 3 / 3 3
a[l] | 6 6 6
a[2] | 13 13 13
a[3] | 20/| || 20 20
a[4] | 87 87 P 45
a[5] | 45 k| 45 87
a[6] | 55 55 | 55
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a[4] 4;/ 45 I

a[5] | 87 ™~ 55

a[6] | 55 —_ 87
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m EIRY—MET5B#void selection_sort(int
af], intn)Zx=&EH &
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a[0]

a[1]

a[2] | 55

a[3] | 87 87

a[4] | 3 3 3

a[5] | 45 45 45 45

a[6] | 13 13 13 13 13
(1) (Q)

(7%)
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alo] | 3 3 3
a[l] 6 6 6

e N\
a[2] | 20 20 20 S E A
a[3] | 55 55 N 45 Hopot-i
a4] | 87 ‘><} 45 | 55 21b
afs] | 45 | 87 87 \_ wT -
a[6] 13 13 13

(A) (7%)
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a[0] | 3 3 3 3 3 3 3
a[l] | 6 6 6 6 6 6 6
a[2] | 20 20 — 20 20 20 20 13
a[3] | 45 45 45 — 45 45 45 20
a[4] | 55 55 55 55 — 55 55 45
a[5] | 87 87 87 87 87 — 87 55
a[6] | 13 13 13 13 13 13 87
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